SENSECUBE B
MI|HEE(EC) TH

MM =EE B8 pS/am(OtO| A2 XA I JAE[HE]), dS/m (AKX A H HE)2tD =T

HM7| M= ZHoll mab 7t 1/10002 St m(EENZE EAIZ AL cmZt mO|ENZE EA| E|7| = St=0|,
0.5mS/cm 2HH 500uS/cm E= 0.5dS/mE HEA|SHCE,

Che ERISS HEmstol LS TIRIE B B 4 Sc,

(Xlﬂilﬁ) = 10 dS(EIAIX|HA) = 1000 mS( 2| X|H A) = 1000000 pS(OFO|IZX|HIA)
[E]) = 10 dm(EIAIHIE]) = 100cm(’HlE|H &)

-

Ol) 1000uS/cm = TmS/ecm = 0.01dS/cm = 0.01dS/0.01m = 1dS/m = 100mS/m

<ExE>
1dS/m = TmS/cm (millisiemen/centimeter)
= 1000 uS/cm (microsiemen/centimeter)
= Tmmho/cm (millimho/centimeter)
= 640mg/L  (milligram/litre)
= 640ppm
1S =10dS = 1,000 mS =1,000,000 uS =1,000,000,000 nS
1T m =100 cm
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mg/L : milligrams per liter

meq/L : milliequivalents per liter
ppm : parts per million

dS/m : deciSiemens per meter
pS/cm : microSiemens per centimeter
mmbho/cm : millimhos per centimeter
TDS : total dissolved solids
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